Corrigé de la planche 12

Exercice 1: dsolve({y"(x) —y(x)=0,»(0)=2,»'(0)=0});

y(x)=e" +e* 6)
dsolve ({y"(x) = y(x) = exp(2-x), »(0) = 0,'(0) = 0})
y(x)Zée_x— ;ex—l— ;e“ 2)
Exercice 2: dsolve({y"(x) —4'(x)+4-y(x)=0,y(0)=0,y'(0)=1});
y(x)=e"x @)
dsolve ({y"(x) — 4-y'(x) + 4 y(x) = x-exp(4°x), y(0) = 0,'(0) = 0});
y(x)=iezx+iezxx+i(—1+x)e4x “

Exercice 3: dsolve({y"(x) +y'(x) + y(x)=0,y(0)=1,y"(0)=1});
1 1

- X

y(x)=e 2 sin(;\/?x)\/?—i—e_zxcos[;\/?x) Q)

dsolve[{y"(x) + y'(x) + p(x) =cos[ Sqrt2(3) .x),y(O) =1,'(0) = 1}];

|
y(x)=§e 2 sin(;\/?xj\/?-i- 1936 2 cos(z\/?xj-i-lisin(;ﬁx)ﬁ (6)

(x)=0 (M
dsolve ({y"(x) +4-y(x) =0,y(1) = Ly'(1) =2});
in (2 2)) sin(2 - 2 in (2 2
(x) = (sm(.) +;:os( )) 51n2( x) cos(. )-I—zsm( ))cozs( X) @)
sin(2)” + cos(2) sin(2)” + cos(2)
dsolve ({y"(x) +4-y(x)=cos(2 x),y(0)=0,»'(0)=0});
y(x)= 41‘ sin(2 x) x &)
Exercice 5: dsolve(y"(x) —2-y'(x) + y(x) =2 —8x+ 5);
y(x)=¢" C2+e"x Cl+1+42x (10)
dsolve (y"(x) — 3 y'(x) + 2+ y(x) =x2)
y(x)ZZ+;x+;x2+_C]ezx+ex_C2 (11)



1 3 -X

y(x)=—x2+ 3 ¢ Cl+3x+_C2

¥ + l)exp(—x));

¥ —et Cl+3x+ _cz) e ™

—

dsolve (y"(x) +3- y'(x) + 2+ y(x) =
yx) =+

Exercice 7: dsolve(y"(x) —4y(x)=x-exp(2-x));

w‘»—

] 1
y(x)=e* C24+e " CI+ Ee2 x(-142x)

dsolve (y"(x) —2- y'(x) + y(x) =x-exp(x));
1 3 &

y(x)=e" C2+4+¢e'x CI+ gx e

Exercice 8: dsolve(y"(x) + w? y(x)=0);
y(x)=_Clsm(wx) + _C2cos(wx)
dsolve ({y"(x) + K -y(x) = 0,5(0) = 0});
y(x)=_CIsin(kx)
Exercice 9: dsolve(y"(t)-y(t)=0);
y(r)= Cle"+ C2¢
dsolve (2- y"(t) +3-y'(t) + 4-y(t) =0);
3

y(t)=_C]e4tsm( m )-i— Cle K cos(i m )
dsolve ( y"(t) +2-y'(t) + 3-y(t) =0)
y(t)=_Cle'sin(y2 1) + _C2ecos({2 1)
dsolve ( y"(t) — 8-y'(t) + 16-y(¢) =0)
y(t)= Clet' + 2"

Exercice 10: dsolve({y"(t) —3-y'(t) —4-y(t)=0,y(0)=1,»'(0)=0});

1 4y ie—z
5

v = e+

dsolve ( {y"(t) + y'(¢) +2-y(¢) =0,y(0) = 1,»'(0) =-2});
1
3 "ot

y(t):—7\/7 ( \/—tj—l—e;[cos(;ﬁtj
)

dsolve ({ 4- y"(t) + 4-y'(¢) + y(¢) =0,y(0) =0,y'(0) = 3})
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